

MONOTONICITIES AND SCHUR-CONVEXITY FOR A TYPE OF SYMMETRIC MEAN VALUES

HONG-CAI LUO, ZHI-HUA ZHANG, V. LOKESHA, AND ZHI-GANG WANG

ABSTRACT. In the present paper, we discuss the basic properties of a type of symmetric mean values. Such results as monotonicities, Schur-convexity for some special cases of this type of mean values are established.

1. INTRODUCTION

Throughout this paper, we assume that the set of $(n+1)$ -dimensional row vector on real number field by \mathbb{R}^{n+1} , and

$$\begin{aligned}\mathbb{R}_+^{n+1} &:= \{\mathbf{x} = (x_0, x_1, \dots, x_n) \in \mathbb{R}^{n+1} : x_i \geq 0 \text{ for } 0 \leq k \leq n\}, \\ \mathbb{R}_{++}^{n+1} &:= \{\mathbf{x} = (x_0, x_1, \dots, x_n) \in \mathbb{R}^{n+1} : x_i > 0 \text{ for } 0 \leq k \leq n\}.\end{aligned}$$

The weighted arithmetic mean $A(\mathbf{x}, \mathbf{t})$ and the power mean $M_r(\mathbf{x}, \mathbf{u})$ of order r with respect to the positive numbers x_0, x_1, \dots, x_n and the positive weights t_0, t_1, \dots, t_n for

$$\sum_{i=0}^n t_i = 1$$

are defined, respectively, as follows:

$$A(\mathbf{x}, \mathbf{t}) = \sum_{i=0}^n t_i x_i,$$

and

$$M_\alpha(\mathbf{x}, \mathbf{t}) = \left(\sum_{i=0}^n t_i x_i^\alpha \right)^{\frac{1}{\alpha}}$$

for $\alpha \neq 0$, and

$$M_0(\mathbf{x}, \mathbf{t}) = \prod_{i=0}^n x_i^{t_i}.$$

Let $\mathbf{x} \in \mathbb{R}_+^{n+1}$ and $r \in \mathbb{N} := \{1, 2, \dots\}$. Then the well-known r -th complete symmetric function is

$$E_n^{[r]} = E_n^{[r]}(\mathbf{x}) := \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ (i_0, i_1, \dots, i_n) \in \mathbb{N}_0}} \prod_{k=0}^n x_k^{i_k} \quad (\mathbb{N}_0 := \mathbb{N} \cup \{0\}) \quad (1.1)$$

with $E_n^{[0]} = E_n^{[0]}(\mathbf{x}) = 1$ for $n \geq 1$. Correspondingly, the r -th generalized symmetric mean is

$$\sum_n^{[r]} = \sum_n^{[r]}(\mathbf{x}) := \frac{E_n^{[r]}(\mathbf{x})}{\binom{n+r}{r}},$$

where

$$\binom{n+r}{r} = \frac{(n+r)!}{r!n!}.$$

In 1934, I. Schur [3, p. 164] obtained the following identity:

$$\sum_n^{[r]}(\mathbf{x}) = n! \int \cdots \int (A(\mathbf{x}, \mathbf{t}))^r dt_1 dt_2 \cdots dt_n$$

2000 *Mathematics Subject Classification.* Primary 05E05; Secondary 26D20.

Key words and phrases. Monotonicity, Schur-convexity, convex function, symmetric function.

with

$$t_0 = 1 - \sum_{i=1}^n t_i,$$

for the integral is taken over

$$t_k \geq 0 \quad \text{for} \quad 0 \leq k \leq n,$$

and proved that

$$\sum_n^{[r-1]}(\mathbf{x}) \cdot \sum_n^{[r+1]}(\mathbf{x}) \geq \left[\sum_n^{[r]}(\mathbf{x}) \right]^2,$$

and

$$\left[\sum_n^{[r]}(\mathbf{x}) \right]^{1/r} \leq \left[\sum_n^{[r]}(\mathbf{x}) \right]^{1/(r+1)}.$$

These are to say that $\sum_n^{[r]}(\mathbf{x})/\sum_n^{[r-1]}(\mathbf{x})$ and $\left[\sum_n^{[r]}(\mathbf{x}) \right]^{1/r}$ both are the monotone increasing functions with respect to $r \in \mathbb{N}$.

When $1 \leq r \leq n+1$, the fact that $E_n^{[r]}(\mathbf{x})$ or $\sum_n^{[r]}(\mathbf{x})$ is Schur-convex in \mathbb{R}_+^{n+1} has generalized by Baston (see [9, p. 82]). Guan [2] proved that the functions $E_n^{[r]}(\mathbf{x})$ or $\sum_n^{[r]}(\mathbf{x})$ and $E_n^{[r]}(\mathbf{x})/E_n^{[r-1]}(\mathbf{x})$ both are Schur-convex in \mathbb{R}_+^{n+1} for all $r \in \mathbb{N}$.

In 2007, Zheng *et al.* [20] found the Schur-convexity of the following increasing Pittenger means $L_\alpha(\mathbf{x})$ [12] and Pearce means $F_\alpha(\mathbf{x})$ [11] with respect to $\alpha \in \mathbb{R}$:

$$L_\alpha(\mathbf{x}) = \begin{cases} \left(n! \int \cdots \int (A(\mathbf{x}, \mathbf{t}))^\alpha dt_1 dt_2 \cdots dt_n \right)^{\frac{1}{\alpha}} & (\alpha \neq 0), \\ \exp \left(n! \int \cdots \int \ln A(\mathbf{x}, \mathbf{t}) dt_1 dt_2 \cdots dt_n \right) & (\alpha = 0), \end{cases} \quad (1.2)$$

and

$$F_\alpha(\mathbf{x}) = n! \int \cdots \int M_\alpha(\mathbf{x}, \mathbf{t}) dt_1 dt_2 \cdots dt_n, \quad (1.3)$$

where

$$t_0 = 1 - \sum_{i=1}^n t_i,$$

for the integral is taken over

$$t_k \geq 0 \quad \text{for} \quad 0 \leq k \leq n.$$

For the similarities of (1.1), (1.2) and (1.3), we will consider two classes of sum-type symmetric mean values as follows:

$$F_n^{[r]}(\mathbf{x}; \alpha, \beta) = \left[\frac{1}{\binom{n+r}{n}} \sum_{\substack{i_0+i_1+\cdots+i_n=r, \\ (i_0, i_1, \dots, i_n) \in \mathbb{N}_0}} \left(\frac{1}{r} \sum_{k=0}^n i_k x_k^\alpha \right)^{\frac{\beta}{\alpha}} \right]^{\frac{1}{\beta}}, \quad (1.4)$$

$$F_n^{[r]}(\mathbf{x}; 0, \beta) = \left(\frac{1}{\binom{n+r}{n}} \sum_{\substack{i_0+i_1+\cdots+i_n=r, \\ (i_0, i_1, \dots, i_n) \in \mathbb{N}_0}} \prod_{k=0}^n x_k^{\frac{i_k \beta}{r}} \right)^{\frac{1}{\beta}}, \quad (1.5)$$

$$F_n^{[r]}(\mathbf{x}; \alpha, 0) = \prod_{\substack{i_0+i_1+\cdots+i_n=r \\ (i_0, i_1, \dots, i_n) \in \mathbb{N}_0}} \left(\frac{1}{r} \sum_{k=0}^n i_k x_k^\alpha \right)^{\frac{1}{\binom{n+r}{n} \alpha}}, \quad (1.6)$$

$$F_n^{[r]}(\mathbf{x}; 0, 0) = \prod_{i=0}^n x_i^{\frac{1}{n+1}}; \quad (1.7)$$

and

$$T_n^{[r]}(\mathbf{x}; \alpha, \beta) = \left[\frac{1}{\binom{n+r-1}{n}} \sum_{\substack{i_0+i_1+\dots+i_n=n+r, \\ (i_0, i_1, \dots, i_n \in \mathbb{N})}} \left(\frac{1}{n+r} \sum_{k=0}^n i_k x_k^\alpha \right)^{\frac{\beta}{\alpha}} \right]^{\frac{1}{\beta}}, \quad (1.8)$$

$$T_n^{[r]}(\mathbf{x}; 0, \beta) = \left(\frac{1}{\binom{n+r-1}{n}} \sum_{\substack{i_0+i_1+\dots+i_n=n+r, \\ (i_0, i_1, \dots, i_n \in \mathbb{N})}} \prod_{k=0}^n x_k^{\frac{i_k \beta}{n+r}} \right)^{\frac{1}{\beta}}, \quad (1.9)$$

$$T_n^{[r]}(\mathbf{x}; \alpha, 0) = \prod_{\substack{i_0+i_1+\dots+i_n=n+r \\ (i_0, i_1, \dots, i_n \in \mathbb{N})}} \left(\frac{1}{r} \sum_{k=0}^n i_k x_k^\alpha \right)^{\frac{1}{(n+r-1)\alpha}}, \quad (1.10)$$

$$T_n^{[r]}(\mathbf{x}; 0, 0) = F_n^{[r]}(\mathbf{x}; 0, 0) = \prod_{i=0}^n x_i^{\frac{1}{n+1}}. \quad (1.11)$$

The main object of this paper is to discuss the basic properties of two symmetric mean values above. Such results as monotonicities and Schur-convexity are proved.

2. PRELIMINARY RESULTS

The convex functions are well-known and the foundations of its theory are due to J. L. Jensen [5]. In order to prove our main results, we shall require the following lemmas.

Lemma 1. *If $f(x)$ is a convex function defined on an interval $\mathbb{I} \subseteq \mathbb{R}$, then*

$$f\left(\frac{\sum_{i=0}^n u_i x_i}{\sum_{i=0}^n u_i}\right) \leq \frac{\sum_{i=0}^n u_i f(x_i)}{\sum_{i=0}^n u_i},$$

where $x_i \in \mathbb{I}$ and $u_i \in \mathbb{R}_+$ with $0 \leq i \leq n$.

Lemma 2. *The function $f(x) = x^\alpha$ is convex if $\alpha(\alpha - 1) > 0$, and concave if $\alpha(\alpha - 1) < 0$ defined on an interval $\mathbb{I} \subseteq \mathbb{R}_+$.*

The Schur-convex functions were introduced by Schur [9] in 1923, and it has many important applications in analytic inequalities. Hardy *et al.* [4] were also interested in some inequalities that are related to Schur-convex functions, the following definitions can be found in many references such as [7, 9, 10, 13, 15, 17].

Lemma 3. *A function $\varphi(\mathbf{x})$ is increasing if and only if $\nabla\varphi(\mathbf{x}) \geq 0$ for $\mathbf{x} \in \Omega$, where $\Omega \subset \mathbb{R}^{n+1}$ is an open set, $\varphi: \Omega \rightarrow \mathbb{R}$ is differentiable, and*

$$\nabla\varphi(\mathbf{x}) = \left(\frac{\partial\varphi(\mathbf{x})}{\partial x_0}, \frac{\partial\varphi(\mathbf{x})}{\partial x_1}, \dots, \frac{\partial\varphi(\mathbf{x})}{\partial x_n} \right) \in \mathbb{R}^{n+1}.$$

Every Schur-convex function is a symmetric function [18]. But it is not hard to see that not every symmetric function can be a Schur-convex function [13, p. 258]. However, we have the following so-called Schur's condition.

Lemma 4. *Let $\Omega \subset \mathbb{R}^{n+1}$ be symmetric to have a nonempty interior convex set, Ω^0 the interior of Ω and $\varphi: \Omega \rightarrow \mathbb{R}$ continuous on Ω and differentiable in Ω^0 . Then φ is the Schur-convex (Schur-concave) function, if and only if φ is symmetric on Ω and*

$$(x_1 - x_2) \left(\frac{\partial\varphi}{\partial x_1} - \frac{\partial\varphi}{\partial x_2} \right) \geq (\leq) 0$$

holds for any $\mathbf{x} \in \Omega^0$.

3. MONOTONICITIES

By using the well-known mean inequality, it is easy to obtain the following theorem.

Theorem 1. *Given $r \in \mathbb{N}$, $F_n^{[r]}(\mathbf{x}; \alpha, \beta)$ and $T_n^{[r]}(\mathbf{x}; \alpha, \beta)$ both are the monotone increasing functions with respect to α and β .*

Theorem 2. *Let $r \in \mathbb{N}$. Then $F_n^{[r]}(\mathbf{x}; \alpha, \beta)$ is a monotone decreasing function and $T_n^{[r]}(\mathbf{x}; \alpha, \beta)$ is a monotone increasing function with respect to r , i.e. the following two inequalities*

$$F_n^{[r]}(\mathbf{x}; \alpha, \beta) \geq F_n^{[r+1]}(\mathbf{x}; \alpha, \beta), \quad (3.1)$$

$$T_n^{[r]}(\mathbf{x}; \alpha, \beta) \leq T_n^{[r+1]}(\mathbf{x}; \alpha, \beta) \quad (3.2)$$

hold if $\alpha < \beta$, and inequalities (3.1) and (3.2) inverse if $\alpha > \beta$. The equalities in (3.1) and (3.2) are valid if and only if $x_0 = x_1 = \dots = x_n$.

Proof. For $\alpha = 0$ or $\beta = 0$, the proofs of inequalities (3.1) and (3.2) are obtained in [8, 16, 19].

We will only prove that $T_n^{[r]} := T_n^{[r]}(\mathbf{x}; \alpha, \beta)$ is monotone increasing function with $r \in \mathbb{N}$. The proof of the results of $F_n^{[r]}(\mathbf{x}; \alpha, \beta)$ is similar.

Indeed, from the well-known weighted Jensen's inequality (Lemma 1) and Lemma 2, if

$$\frac{\beta}{\alpha} \left(\frac{\beta}{\alpha} - 1 \right) > 0,$$

we then have

$$\begin{aligned} & \binom{n+r-1}{n} \left(T_n^{[r+1]} \right)^\beta \\ &= \frac{r}{n+r} \sum_{\substack{i_0+i_1+\dots+i_n=n+r+1, \\ (i_0, i_1, \dots, i_n \in \mathbb{N})}} \left(\frac{1}{n+r+1} \sum_{k=0}^n i_k x_k^\alpha \right)^{\frac{\beta}{\alpha}} \\ &= \sum_{\substack{i_0+i_1+\dots+i_n=n+r+1, \\ (i_0, i_1, \dots, i_n \in \mathbb{N})}} \frac{\sum_{k=0}^n (i_k - 1)}{n+r} \cdot \left(\frac{\sum_{k=0}^n i_k x_k^\alpha}{n+r+1} \right)^{\frac{\beta}{\alpha}} \\ &= \sum_{\substack{j_0+j_1+\dots+j_n=n+r, \\ (j_0, j_1, \dots, j_n \in \mathbb{N})}} \sum_{k=0}^n \left[\frac{j_k}{n+r} \cdot \left(\frac{\sum_{v=0}^n j_v x_v^\alpha + x_k^\alpha}{n+r+1} \right)^{\frac{\beta}{\alpha}} \right] \\ &\geq \sum_{\substack{j_0+j_1+\dots+j_n=n+r, \\ (j_0, j_1, \dots, j_n \in \mathbb{N})}} \left(\sum_{k=0}^n \frac{j_k}{n+r} \cdot \frac{\sum_{v=0}^n j_v x_v^\alpha + x_k^\alpha}{n+r+1} \right)^{\frac{\beta}{\alpha}} \\ &= \sum_{\substack{j_0+j_1+\dots+j_n=n+r, \\ (j_0, j_1, \dots, j_n \in \mathbb{N})}} \left(\frac{\sum_{k=0}^n j_k x_k^\alpha}{n+r} \right)^{\frac{\beta}{\alpha}} \\ &= \binom{n+r-1}{n} \left(T_n^{[r]} \right)^\beta, \end{aligned}$$

or

$$\left[T_n^{[r]}(\mathbf{x}; \alpha, \beta) \right]^\beta \leq \left[T_n^{[r+1]}(\mathbf{x}; \alpha, \beta) \right]^\beta, \quad (3.3)$$

and inequalities (3.3) inverses if

$$\frac{\beta}{\alpha} \left(\frac{\beta}{\alpha} - 1 \right) < 0.$$

The equalities above are valid if and only if

$$\sum_{k=0}^n i_k x_k^\alpha + x_0^\alpha = \sum_{k=0}^n i_k x_k^\alpha + x_1^\alpha = \cdots = \sum_{k=0}^n i_k x_k^\alpha + x_n^\alpha$$

which is equivalent to $x_0 = x_1 = \cdots = x_n$.

If $(\alpha/\beta)(\alpha/\beta - 1) > 0$, that is $\alpha/\beta < 0$ or $\alpha/\beta > 1$, then $\beta > \alpha$ and $\beta > 0$, we immediately find inequality (3.2) from (3.3). If $(\alpha/\beta)(\alpha/\beta - 1) < 0$, then $\alpha < \beta < 0$, and we also obtain inequality (3.2) from inverses (3.3). It is to say that inequality (3.2) holds if $\alpha > \beta$. Similarly, we have that inequality (3.2) inverses if $\alpha < \beta$.

The proof of Theorem 2 is completed. \square

Theorem 3. *If $r \in \mathbb{N}$, then $F_n^{[r]}(\mathbf{x}; \alpha, \beta)$ and $T_n^{[r]}(\mathbf{x}; \alpha, \beta)$ both are the monotone increasing functions with $\mathbf{x} \in \mathbb{I}^{n+1}$.*

Proof. The required results are obtained from Lemma 3, and

$$\frac{\partial F_n^{[r]}(\mathbf{x}; \alpha, \beta)}{\partial x_i} = \frac{1}{\binom{n+r}{n}} \left[F_n^{[r]}(\mathbf{x}; \alpha, \beta) \right]^{1-\beta} \cdot \sum_{\substack{i_0+i_1+\cdots+i_n=r, \\ (i_0, i_1, \dots, i_n \in \mathbb{N}_0)}} \frac{i_i x_k^{\alpha-1}}{r} \left(\frac{1}{r} \sum_{k=0}^n i_k x_k^\alpha \right)^{\frac{\beta}{\alpha}-1} \geq 0,$$

and other similar ones. \square

4. SCHUR-CONVEXITY

For any $\alpha, \beta \in \mathbb{R}$, it is difficult to know the Schur-convexity of $F_n^{[r]}(\mathbf{x}; \alpha, \beta)$ and $T_n^{[r]}(\mathbf{x}; \alpha, \beta)$. But in the some special cases of α and β , we can establish their Schur-convexity. By similarly applying the method of proof of Theorems 3.1 and 3.2 obtained by N.-G. Zheng *et al.* [20], we can get the following results. Here we only give the proof of Theorem 4.

Theorem 4. *Given $r \in \mathbb{N}$, $F_n^{[r]}(\mathbf{x}; \alpha, 1)$ and $T_n^{[r]}(\mathbf{x}; \alpha, 1)$ both are the Schur-convex functions if $\alpha \geq 1$, and the Schur-concave functions $\alpha \leq 1$.*

Proof. We only give the proof of the result of $F_n^{[r]}(\mathbf{x}; \alpha, \beta)$, and other is similar.

Denote

$$M_\alpha(\mathbf{x}; i_0, i_1) = \left(\frac{1}{r} \sum_{k=0}^n i_k x_k^\alpha \right)^{\frac{1}{\alpha}}.$$

For $\alpha \neq 0$, we thus have

$$\frac{\partial M_\alpha(\mathbf{x}; i_0, i_1)}{\partial x_0} = \frac{i_0}{r} x_0^{\alpha-1} (M_\alpha(\mathbf{x}; i_0, i_1))^{1-\alpha} = \frac{i_0}{r} \left[\frac{M_\alpha(\mathbf{x}; i_0, i_1)}{x_0} \right]^{1-\alpha}, \quad (4.1)$$

$$\frac{\partial M_\alpha(\mathbf{x}; i_1, i_0)}{\partial x_1} = \frac{i_0}{r} x_1^{\alpha-1} (M_\alpha(\mathbf{x}; i_1, i_0))^{1-\alpha} = \frac{i_0}{r} \left[\frac{M_\alpha(\mathbf{x}; i_1, i_0)}{x_1} \right]^{1-\alpha}. \quad (4.2)$$

Combination of (4.1) to (4.2), yields

$$\frac{\partial M_\alpha(\mathbf{x}; i_0, i_1)}{\partial x_0} - \frac{\partial M_\alpha(\mathbf{x}; i_1, i_0)}{\partial x_1} = \frac{i_0}{r} \left\{ \left[\frac{M_\alpha(\mathbf{x}; i_0, i_1)}{x_0} \right]^{1-\alpha} - \left[\frac{M_\alpha(\mathbf{x}; i_1, i_0)}{x_1} \right]^{1-\alpha} \right\}. \quad (4.3)$$

By using the mean value theorem, we find

$$\begin{aligned}
& \left[\frac{M_\alpha(\mathbf{x}; i_0, i_1)}{x_0} \right]^{1-\alpha} - \left[\frac{M_\alpha(\mathbf{x}; i_1, i_0)}{x_1} \right]^{1-\alpha} \\
&= \left(\frac{1}{r x_0^\alpha} \sum_{k=0}^n i_k x_k^\alpha \right)^{\frac{1-\alpha}{\alpha}} - \left[\frac{1}{r x_1^\alpha} \left(i_0 x_1^\alpha + i_1 x_0^\alpha + \sum_{k=2}^n i_k x_k^\alpha \right) \right]^{\frac{1-\alpha}{\alpha}} \\
&= \frac{1-\alpha}{\alpha} \left(\frac{i_1 x_1^\alpha + \sum_{k=2}^n i_k x_k^\alpha}{r x_0^\alpha} - \frac{i_1 x_0^\alpha + \sum_{k=2}^n i_k x_k^\alpha}{r x_1^\alpha} \right) (i_0 + \theta_1)^{\frac{1-2\alpha}{\alpha}} \\
&= \frac{1-\alpha}{\alpha} \cdot \frac{i_1 x_1^{2\alpha} + x_1^\alpha \sum_{k=2}^n i_k x_k^\alpha - i_1 x_0^{2\alpha} - x_0^\alpha \sum_{k=2}^n i_k x_k^\alpha}{r x_0^\alpha x_1^\alpha} \cdot (i_0 + \theta_1)^{\frac{1-2\alpha}{\alpha}} \\
&= (1-\alpha)(x_1 - x_0) (i_0 + \theta_1)^{\frac{1-2\alpha}{\alpha}} \mathfrak{M}(\mathbf{x}, \theta_2),
\end{aligned} \tag{4.4}$$

where θ_1 is between to

$$\frac{i_1 x_1^\alpha + \sum_{k=2}^n i_k x_k^\alpha}{x_0^\alpha} \quad \text{and} \quad \frac{i_1 x_0^\alpha + \sum_{k=2}^n i_k x_k^\alpha}{x_1^\alpha},$$

θ_2 is between to x_0 and x_1 , and

$$\mathfrak{M}(\mathbf{x}, \theta_2) = \frac{2i_1 \theta_2^{2\alpha-1} + \theta_2^{\alpha-1} \sum_{k=2}^n i_k x_k^\alpha}{x_0^\alpha x_1^\alpha} \geq 0.$$

Owing to the symmetry of $F_n^{[r]}(\mathbf{x}; \alpha, 1)$ with respect to x_1, x_2, \dots, x_n , we have

$$\begin{aligned}
F_n^{[r]}(\mathbf{x}; \alpha, 1) &= \frac{1}{\binom{n+r}{n}} \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ (i_0, i_1, \dots, i_n) \in \mathbb{N}_0}} M_\alpha(\mathbf{x}; i_0, i_1) \\
&= \frac{1}{\binom{n+r}{n}} \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ (i_0, i_1, \dots, i_n) \in \mathbb{N}_0}} M_\alpha(\mathbf{x}; i_1, i_0).
\end{aligned} \tag{4.5}$$

From (4.4) and (4.5), we get

$$\begin{aligned}
& (x_0 - x_1) \left[\frac{\partial F_n^{[r]}(\mathbf{x}; \alpha, 1)}{\partial x_0} - \frac{\partial F_n^{[r]}(\mathbf{x}; \alpha, 1)}{\partial x_1} \right] \\
&= \frac{1}{\binom{n+r}{n}} \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ (i_0, i_1, \dots, i_n) \in \mathbb{N}_0}} (x_0 - x_1) \left[\frac{\partial M_0(\mathbf{x}; i_0, i_1)}{\partial x_0} - \frac{\partial M_0(\mathbf{x}; i_1, i_0)}{\partial x_1} \right] \\
&= \frac{1}{\binom{n+r}{n}} \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ (i_0, i_1, \dots, i_n) \in \mathbb{N}_0}} \frac{i_0}{r} (\alpha - 1) (x_0 - x_1)^2 (i_0 + \theta_1)^{\frac{1-2\alpha}{\alpha}} \mathfrak{M}(\mathbf{x}, \theta_2).
\end{aligned}$$

It follows that $F_n^{[r]}(\mathbf{x}; \alpha, 1)$ is Schur-convex for $\alpha \geq 1$ and Schur-concave for $\alpha \leq 1$ and $\alpha \neq 0$ by Lemma 4.

For $\alpha = 0$, from

$$\frac{i_0 - i_1}{r} - 1 \leq 0,$$

and

$$(x_0 - x_1) \left(x_0^{\frac{i_0-i_1}{r}-1} - x_1^{\frac{i_0-i_1}{r}-1} \right) \leq 0,$$

we similarly obtain

$$\begin{aligned}
& (x_0 - x_1) \left[\frac{\partial F_n^{[r]}(\mathbf{x}; 0, 1)}{\partial x_0} - \frac{\partial F_n^{[r]}(\mathbf{x}; 0, 1)}{\partial x_1} \right] \\
&= \sum_{\substack{i_0+i_1+\dots+i_n=r, \\ (i_0, i_1, \dots, i_n) \in \mathbb{N}_0}} \frac{i_0(x_0 - x_1)}{r \binom{n+r}{n}} \left(x_0^{\frac{i_0-i_1}{r}-1} - x_1^{\frac{i_0-i_1}{r}-1} \right) x_0^{\frac{i_1}{r}} x_1^{\frac{i_1}{r}} \prod_{k=2}^n x_k^{\frac{i_k}{r}} \leq 0.
\end{aligned}$$

It is clear to see that $F_n^{[r]}(\mathbf{x}; 0, 1)$ is a Schur-concave function. □

Theorem 5. Given $r \in \mathbb{N}$, $F_n^{[r]}(\mathbf{x}; 1, \beta)$ and $T_n^{[r]}(\mathbf{x}; 1, \beta)$ both are the Schur-convex functions if $\beta \geq 1$, and the Schur-concave functions if $\beta \leq 1$.

5. SOME REMARKS

Remark 1. If $r \in \mathbb{N}$, then $\lim_{r \rightarrow \infty} F_n^{[r]}(\mathbf{x}; \alpha, \beta)$ and $\lim_{r \rightarrow \infty} T_n^{[r]}(\mathbf{x}; \alpha, \beta)$ exist, and

$$\begin{aligned} \lim_{r \rightarrow \infty} F_n^{[r]}(\mathbf{x}; \alpha, \beta) &= \lim_{r \rightarrow \infty} T_n^{[r]}(\mathbf{x}; \alpha, \beta) \\ &= F_n(\mathbf{x}; \alpha, \beta) = \left(n! \int \cdots \int \left(\sum_{i=0}^n x_i^\alpha t_i \right)^{\frac{\beta}{\alpha}} dt_1 dt_2 \cdots dt_n \right)^{\frac{1}{\beta}}, \end{aligned}$$

where $t_0 = 1 - \sum_{i=1}^n t_i$ and the integral is taken over $t_k \geq 0$ for $0 \leq k \leq n$.

Remark 2. From the monotonicities of the generalized symmetric mean values above, we can easily find some inequalities. For example:

Let $r \in \mathbb{N}$ and $\alpha < \beta$. Then

$$\begin{aligned} \left(\frac{1}{n+1} \sum_{i=0}^n x_i^\alpha \right)^{\frac{1}{\alpha}} &= T_n^{[1]}(\mathbf{x}; \alpha, \beta) \leq T_n^{[r]}(\mathbf{x}; \alpha, \beta) \leq F_n(\mathbf{x}; \alpha, \beta) \\ &\leq F_n^{[r]}(\mathbf{x}; \alpha, \beta) \leq F_n^{[1]}(\mathbf{x}; \alpha, \beta) = \left(\frac{1}{n+1} \sum_{i=0}^n x_i^\beta \right)^{\frac{1}{\beta}}. \end{aligned} \tag{5.1}$$

Obviously, inequality (5.1) is a refinement of power mean inequality.

Acknowledgements. The present investigation was supported by the *Scientific Research Fund of the Educational Department* under Grant 07C718 and the *"Eleventh-Five-Year" Special Foundation of Construction for Key Subject* of Hunan Province, People's Republic of China.

REFERENCES

- [1] N. Elezović and J. Pečarić, *A note on Schur-convex function*, Rocky Mountain J. Math., **30**(3), 2000, 853-856.
- [2] K.-Z. Guan, *Schur-convexity of the complete elementary symmetric function*, J. Inequal. Appl., vol. 2006, Article ID 67624.
- [3] G. H. Hardy, J. E. Littlewood and G. Pólya, *Inequalities*, 2nded. Cambridge Univ. Press, 1952.
- [4] G. H. Hardy, J. E. Littlewood, and G. Pólya, *Some simple inequalities satisfied by convex functions*, Messenger of Math. **58** (1929), 145-152.
- [5] J. L. Jenson, *Sur les fonctions convexes et les inégalités entre les valeurs moyennes*, Mct Math. **30** (1906), 175-193.
- [6] G. Klambauer, *Problems and Propositions in Analysis*, Marcel Dekker, Inc., New York, 1979.
- [7] J.-C. Kuang, *Chángyòng Bùděngshì (Applied Inequalities)*, 3rded, Shandong Science and Technology Press, Jinan City, Shandong Province, China, 2004. (in Chinese)
- [8] V. Lokesha and Z.-H. Zhang, *The weighted heron dual mean in n variables*, Adv. Stud. Contemp. Math. (Kyungshang), **13**(2006), no. 2, 165-170.
- [9] A. M. Marshall and I. Olkin. *Inequalities:theory of majorization and its application*. New York: Academies Press, 1979.
- [10] D. S. Mitrinović, *Analytic Inequalities*, Die Grundlehren dermathematischenwissenschaften, vol. 1965, Springer, New York, 1970.
- [11] C. E. M. Pearce, J. Pečarić and V. Šimić, *On weighted generalized logarithmic means*, Houston J. Math., **24**(1998), pp. 459-465.
- [12] A. O. Pittenger, *The logarithmic mean in n variables*, American Math. Monthly, vol. 92, pp. 99-104, 1985.
- [13] A. W. Roberts and D. E. Varberg, *Convex Functions*, Pure and Applied Mathematics, vol. 57, Academic Press, New York, 1973.
- [14] H.-N. Shi, *Majorized proof of a kind of inequalities for symmetric function*, Chinese J. Math. Techology, **15** (3), 1999, 140-142.
- [15] B.-Y. Wang. *Kòngzhì Bùděngshì Jīchǔ (Foundations of majorization inequalities)*, Beijing Normal Univ. Press, Beijing, China, 1990. (in Chinese)
- [16] Z.-G. Xiao and Z.-H. Zhang, *The Inequalities $G \leq L \leq I \leq A$ in n Variables*, J. Inequal. Pure Appl. Math., **4**(2) (2003), Article 39, (electronic).
- [17] X.-M. Zhang. *Jīhè Tūhánshù (Geometrically convex functions)*, An' hui University Press, Hefei Province, China, 2004. (in Chinese)

- [18] X.-M. Zhang, *Optimization of Schur-convex functions*, Math. Inequal. Appl., **1** (1998), no. 3, 319-330.
- [19] Z.-H. Zhang, V. Lokesha and Z.-G. Xiao, *The weighted heron mean in n variables*, J. Anal. Comput., **1** (2005), no. 1, 57-68.
- [20] N.-G. Zheng, Z.-H. Zhang, and X.-M. Zhang, *Schur-convexity of two types of one-parameter mean values in n variables*, J. Inequal. Appl., vol. 2007, Article ID 78175, pp. 1-10.

(H.-C. Luo) DEPARTMENT OF MATHEMATICS, XIANGNAN UNIVERSITY, CHENZHOU 323000, HUNAN, P. R. CHINA
E-mail address: `nxylhc@163.com`

(Z.-H. Zhang) DEPARTMENT OF MATHEMATICS, ZIXING EDUCATIONAL RESEARCH SECTION, CHENZHOU 423400, HUNAN, P. R. CHINA
E-mail address: `zxzh1234@163.com`

(V. Lokesha) DEPARTMENT OF MATHEMATICS, ACHARYA INSTITUTE OF TECHNOLOGY, SOLDEVAHNALLI, HESARAGATTA ROAD, KARNATAKA BANGALORE-90 INDIA
E-mail address: `lokiv@yahoo.com`

(Z.-G. Wang) SCHOOL OF MATHEMATICS AND COMPUTING SCIENCE, CHANGSHA UNIVERSITY OF SCIENCE AND TECHNOLOGY, CHANGSHA 410076, HUNAN, P. R. CHINA
E-mail address: `zhigwang@163.com`